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18U/95/29(Set-1)

No. of Quastions : 100
e B w100

Time - 2: Hours | [ Full Marks - 300
WA 24 FUE ) [ qUrE: 30

Note: (1)

(2)

This question booklet contains 100 (hundred) questions in al] (30 in
Section-A and 70 in Section-B). Attempt as many questions as you can,
Each question carries 3 (three) marks, One mark will be deducted for each
mcorrect answer. Zero mark will be awarded for each unattempted

question.

g we-qiida § @5 100 ﬁﬁ}mé{%ﬁﬁmaw—ﬁﬁm):
xﬁﬁwﬁﬁmwﬁaﬁmmﬁaﬂmﬁ?ﬁﬁmﬂ?ﬂmuﬁsﬁﬁ?}mﬁaﬂ%l
mﬂﬁﬁaﬁ?ﬁﬁvwﬁmmmﬁmﬁﬁﬁammmw
I~ B |

Il more than one alternative answers seem to be dpproximate to the

correct answer, choose the closest one.

:ﬁémﬁmﬁzﬁﬁ‘wm?ﬁﬁuﬁﬁmcﬁmﬁﬁhﬁwmm
g |

(3) o e
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;e
SECTION - A

1. Which one of the following is anindicative of the quality of teaching ?
(1) Maintains pindrop silence in the classroom
(2) Raises very standard questions
(3) Students reply in the classroom
(4) Pass percentage of the students
ﬁmﬁﬁﬁmm#muﬂaﬁgwmfuaﬁm%?
(1) en 3 o T T
(2) W el BT IS
3) ot Bl @ET A STk
(4) e ¥ o Bl @ wend
2. The main objective of a testin classis:
(1) To repeat whatever is taught till now
(2) To gauge educational achievement
(3) To train students to give reply alter thinking
(4) To give practice of writing
Farr # U@ TR H e IETE @
(1) mﬂﬂfﬁ'm‘rﬂgaqamm%m‘rmm
(2) it Soefdr @7 9aT
(3) %ﬁﬁﬁ%ﬁwmaﬁ%ﬁ;ﬁﬁﬁm
(4) form= @7 s o

3. The most significant role of a teacher in a class is to act as a person who is
intended to:

(1) Teach content to the students (2) Ensure discipline among students
(3) Train the students (4) Guide the students
wmﬁﬂ%w@%,m&ﬁmﬁ@mﬁﬂaﬁﬁﬁ%ﬁ:

(1) v F fwaaw Bl (2) DIl & SR WY

(3) BT & e w (4) wTHET T ARG P

(4)
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: ; .
All of the following are applicable for teaching to create good motivation
among students except that teaching should :

(1) be brief
(2) relevant to the pupils
(3) be related to the lesson that follows

(4 always come from the teacher

ﬁmﬁﬂmﬁwﬂmﬁﬁmaﬁﬁwﬁqmﬁ%ﬁm%mwﬁ
BreEY :

(1} ferr wféy g ey

(2) e ot & sy &9 i

(3t Reror wert 9 ot e @ srwy B Ak
(4) Fer gien eamas 9 ey wrfed

Children generally remember those things that they

(h learn by doing themselves (2) listen from the mouth of teacher
(3) watch on the television (4) read in books

e W= 99 gl @) we e € Ry g

(1) &7 ®ve dhag & {z}ﬁmasa‘%g@ﬁqﬁa%

(3) E¥EYH W I (4) qwral ¥ geg ¥

In various teaching methods, which is designed to modify the learners'
behaviour ?

(1) Subject matter (2) Learner
(3) The teacher (4) School
j ﬁrﬂﬂﬁﬁﬁﬁ.ﬁﬂ}%m@ﬂaﬁwﬁqﬁﬁﬁzﬁfmmﬁiﬁ%mm
g7
(1) fow awg (2) afeyraaat
(3) fPrer (4) RErem

(5) P.T.O.
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7. The most powerful barrier of communication in the classroom I
(1} Lack of teaching aids
(2} More outside disturbance in the classroom
(3) Confusion on the part of the teacher
(4) Noise in the classroom
FET-E § GRS BT FeH i) aEd ©
(1} P HErTH arafiyE @1 amiid
(2) hET-THE ® A arenierd STaHT
(3) e & W W TAPI
(4) Fer-Ber H AR

8. Objectives of education are decided by

(1) Philosophy of Education (2) Sociology of Education
(3) Psychology of Education (4) Technology of Bducation
Fore 1 ga FawffRe el €

(1) foven @1 G (2) e a1 FaTee

(3) i B A (4) Pt @t T

9. Interpretation of meaning depends least upon
(1) Pastexperience (2) Psvchological state
(3) Present circumstances (4) Economic state

e & e way @ fe wd o

(1) gd AHd W (2) wATEIfR SR o
(3) FerarT afifeial W (4) anfiw frafa

10. The most important challenge before a teacher is
(1) To maintain discipline in the classroom
(2} To make students do their home work
(3) To make teaching-learning process enjoyable

(4) To prepare question-paper

(6)
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W%rﬁﬁwﬂ@mwﬁgﬁﬁﬁﬁ?:
(1) @e-me & S @ v

(2) Renfefy 3 gam TE R

(3) Pt s ufibar & amycaras ERIGT
(4) UTTTE AR HeAr

Instruction : On the basis of the following contents, answer the question nimbers
1l &2

ﬁ?ﬁ'ﬁﬁmﬁ?mmﬁa%\mwwmwmn 712 & gov Siom .

There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 11 and 12 -

W oafed A, B, C, D, EdRF & C, FBIGE 8IBES R gn o 21D 4 o
ﬁm%‘aﬂqFaﬂm%‘mﬁﬁaﬁﬁmmﬁw@ﬁwﬁ%jaﬁw11 v 12
] T T -

How many male members are there in the group ?

{1} one (2) two (3) three (4) four
g A B 7 wewm 7
(1) s (2) =1 (3) = (4) =R

How is F related to E ?

(1) Uncle {2) Husband (3) Son (4) Daughter
F,E 31 &9 grafam & 2
(1) =mam (2} dfa (3) = (4) =

Which of the following does not belong with the others ?

(1) Guitar (2) Flute (31 Violin (4) Sitar
et & 9 B o @ el gt R o
(1) firew (2) arg (3) @afer (4) fyEr

(7) P.T.0.
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: i N
14.  1f the dav before yesterday was Thursday, then when will Sundav be !

(1} Today (2} Two days after today
(3) Tomorrow (4) Day after tomorraw
oy we & UEe devurar o, d FIgr w4a B 7

(1) (2) @ra @ 3 fEF 4
(3) Tl (1) T @ @ @ o

15. If 1st October is Sunday, then 1ot November will be -

(1) Monday (2) Tuesday

(3) Wednesday (4) Thursday
a1 yzr?;gﬂaﬁ?ﬁmi’%,a‘r | Fg=R @ B & g e
(1) |Er (2) +TEETR

(3) AR (4) FERUfrar

16. 1 25th of August in a vear is Thursdav, then the number of Mondavs in that

month will be :

(1} Three (2) Four (3) Five (4) Six

nfe fEed @ B 25 S BEEIIEIR 1 e 8, d1 59 A HIR = w
CiLE

ORGIE (2) =X (3) uid () =

17. Pointing to a woman, & man said, "The sister of her mother's husband is mv

Junt. How is he related to that woman ?
(1} Nephew (2) Father
(3) Uncle (4) Brother

qﬁi&iﬁﬂqﬂaﬁ?ﬁm‘ﬂmﬁ@,qm@qﬁtﬁﬂ Sd Fw @ ufg @ g w9 AT
%1"@%ﬂ%—oﬂiﬁzﬁﬂwﬁm%?

(1) i 2y fiar
(3) = (4) e

(8)
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I am facing Bast. 1 turn 100° in the clockwise direction and then 145 in the

anticlockwise direction, Which direction am | facmg now ?
(1) East {2) North-East
(3) North (4) South-West

# yvg @ s 5} [ 20 % udr o wdat o Ry (aferomad) % 100° Fee ﬁaﬁ?
TS T B @ i Ren (amied) 5 o A 78 fore fawem % 2

(1) god (2) ImR-gy

(3) ST (4) cfém-ufay

Train: Track ::?

(1) Idea : Brain (2) Bullet : Barrel

(3) Water : Boat (4) Fame : Television

NPT - R : ?

(1) fdar : aftaws (2) g2 : e

(3) urh : e (4) ®H : Teffaom

[t SHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as :

(1) 3568 (2} 3658 (3} 3685 (4) 3583

e SHARP rﬁ‘r WIBIAE T (BTE) T 58034 Faer waT e T PUSH &) 1658
WS BT G Y T RUSH #1 @ wre s e ?

(1) 3568 (2) 3658 (3) 3685 (4) 3583
RMSA is related to .............. education.
(1) Primary (2} Higher
{3) Secondary (4) Technical
IR A TET .. . fovenm & wefoT 2
) wefes (2) 9=
(3) Frafde (4} b

{9) PT.O.
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22, 'Gvan Darshan' is related to:

(1) IGNOU (2) UGC

(3) NCERT (4) NCTE

T T el 2

(1) 3% (2) g WA
B A EIR AN () TR A TH

23 Who was the Chairman of National Knowledge Commission ?

(1) Sam Pitroda (2) Krishna Gopal
(3) D.P.Singh {(4) Ved Prakash
< §i QT AT e DI o7 7

(1) < R=ar (2) o A

(3) $o do T (4) & yET

24. 'Planning Commission’ in India has been renamed as ¢
(1) Artha Aavog (2} NITI Aayog
(3) Planning Commission ol India (4) Vikash Aavog

Le

e A T e @1 g AW fhdl T s

(1) ared amarm (2) ey AT
(3y @i wHEE & sls (4) famma

25 Which State has maximum number of ‘State Universities' in India 7
{1) Rajasthan (2) Uttar Pradesh
(3) Uttarakhand (4) Guijarat
e & g T 1 waie v Rl §

(1) ST (2} 3 gBd
(3) ITRTETE (4) T

(10)
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I||r f ,' T

Vorld Envirynment Day"1s celebrated on -

(1) 5th September (2) 15th August
(3) 5th June (4} 23rd ]a!'lt,lal‘_‘i.-‘
AEEE R faa @ wemr smer @ 2
(1) 5w ¢ (2) 15 3=
(3) 5507 @ (4) 23 a9 @1
When 'National Youth Day' is celebrated ?

(1} 12 lune (2) 12 January (3) 12 August (4) 12 October
Yt AT R B w ey @ 2
(1) 1297 # (2) 2Vt @ (3) Rawa s () 12 3aEay &)

[n which State 'Vishwa Bharati University' is situated ?

(1) Assam (2) Bihar

t3) Himachal Pradesh (4) West Bengal
v T Rl fve o § Reg @ 0

(1) araq (2) faEw

(3) [eHIeret yaor (1) uf¥am qare

Who is the author of the book 'Ignited Minds' ?

(1) Yashpal (2) Vivekanand

(31 AP L Abdul Kalam (4) Karn Singh

GTIECE AEVST ® AWE wI g 7

(1) Tegre (2) faddr=

(3) o o o et FAW (4) @i fifg

In which year Indian Parliament enacted RCT Act ?

{1} 2000 (2) 1992 (3) 198 (4) 1943
HRA WEE T 58 99 siRowosmdo SRS geam 7

(1) 2000 (2) 1992 (3) 198h (+) 1993

(11) PTG
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SECTION-B
e — §

31. Which one is not vegelative fibre in the followings ?

(1) Linen (2) Jute
(3) Hemp (4) Wool
e & @ BT gFRIfiS A T8l © 7
(1) for () 7
(3) ¥ (4)
32. By which method permanent hardness of water can be removed ?
(1) By boiling. (2) By Clark's method
(3) Adding caustic soda (4) By Calgon process
et 2 T HORAT 1 b g g% fpw S & 7
(1) @1 X (2) Ferd 1 A
(3) Fe® drst HEET (4) @ fafy g
33. Which one is not a secondary color ?
(1) Red (2) Green
(3) Orange (4) Duple
e 3 | @ < fedas 78T E 7
(1) =Tt (2) &
(3) (@) dmh
34. Colours are different due to:
(1) Hue (2) Value
(3) Chroma (4) Balance
0 A fa=a F R -3
(1) = (2) "ed
(3) e _ ©(4) wEET

(12)
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Which one is "ot a quality of an entrepreneur 2

(1) Self-confidence (2) Leadership
(3) Careless (4) Originality
ﬁﬁﬁﬂaﬂﬁ-mmﬁrw?ﬁ 78t e & 2

(1) ameafrvarg (2) g

(3) wMuaTE (4) Hiferapan

Which one is not g type of budget ?

(1) Real budget (2) Ideal budget
(3) Average budget (4) Unbalanced budget
=1 % & S| T &1 yer T8 &

(1) arafds aae (2) anest gore

(3) ad gae (4) srugferT gore
Which one is not a informal teaching method ?

(1) Operation chart (2) Pathway chart
(3) Process chart (4) Graph chart

B 3 & P s Re RR g d o

(1) sifqeer = (2) "l wid

(3) W = (4) s =1

Which disease is caused by deficiency of Niacin ?

(1) Pellegra (2) Osteomalacia
(3) Beri-beri (4) Anaemia
Frafa & &4 @ s fmd o 2 2

(1) Henm (2) agafRer

(3) -3 (4) wtfran

(13) P.T.O.
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39.  Which one is not a factor affecting Base Metabolic Rate (BMR) !

(1) Fever (2) Secretion of endocrine glands
(3) Fast (4) Normal stage

sl T & gY@ yifad ae are RE fr 4 @ B e
(1) SR (2) sichurdy wRCT T A

(3) wUIiE (4) wrrg ffa

40. FEssential amino acid 15 called :

(1) Lysine (2) Cysteine
(3) Thyroxine (4) Serine
arrmaﬁaﬁ#wﬁﬁﬁrﬂﬁﬁ?ﬁmﬁ% ?

(1) @i (2) RTI
(3) e () W

41. For an adult woman calories requirement 1s :

(1) 3000-4000 {2) 1800-2200
(3) 2000-5000 (41 1000-2000
mmﬂ%ﬁﬂ%@ﬁﬁﬁﬂaﬁmﬁmwﬁﬁ'ﬂﬁé?
(1) 3000-4000 (2) 1800-2200
(3) 4000-5000 (4) 1000-2000

42. Which disease is caused by deficiency of Todine ?

(1) Cretinism (2) Night-blindness
(3) Bitot's spot {(4) Ricket

ST E Y P 9 & o # 7

(1) @iefsH (2y N3-S

(3) aEeie-ie | (1) e

(14)
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Which of the following principles was added by Mahavira Swami tg the
religious doctrines of Parshvanath ?

(1) Satya {2) Ahimsa
(3} Aparigraha (4) Brahmacharya

uraﬂmaﬁmﬁaﬁq&ﬁﬁ%ﬁﬁw#ﬁﬁﬁaﬁqﬁﬁﬁﬁmﬁmﬁﬁrﬁﬁ
frar 7

(1) W<y (2) afear
(3) argfdns (4) FaEred

Wha built the Stupa of Sanchi 2

(1) Ashoka (2) Kanishka

(3) Harsha (4) Buddhagupta
AT &7 /Y S T ?

(1) s (2) ®fes

(3} &4 (4) g
Where did Buddha give his first sermon ?

(1) Gaya (2) Pataliputra
{3) Sarnath (4) Vaishali

4 T 3T YUH SRy et Ry oy ?

(1) (2) wrefergm

(3) |y (4) Tt

Which among the following is most ancient ?

(1} Rigveda (2} Samveda

(3) Yajurveda (4} Atharvaveda
Frafefad 4 9 ®t waifs wrds & 2

(1) wEE (2) amdE

(3) o (4) erddm

(15) P.T.O,
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47. Who was the author of "Rajtarangmi’ ?

(1) Jaysimha () Kalidas
(3) Chanda Bardai (1) Kalhana
il @ TEe ) @ A

(1) wTaidE (1) A
(3) TEAETE (1) or

48. Who was given the title of Lakh Baksh' ?
(1} Balban (2) Razia
{3} Qutubuddin Aibak (4) Htutmish

mf[ El_tf?'f' Ehb[ Eq—'::r_\[ hf{" ';I,-_:l'q T.F-[ T E:'\l_ ph 2

(1) @efa (2) <
(3) BT LEE (4) gemia

49. Who was the writer of ‘Tabagat-i-Akbart" ?

{1) Nizamuddin Ahmad (2% Abul Fazl

(3) Badauni (4) Abbas Khan Sarwani

TAETR-U-TEEY B A B g ?

(1) fAsmEald 3EHe (2) Jget wad
(3) FET () w=rd @l EeErh

50. Who founded the kingdom of Avadhin ] 7227

(1) Alivardi Khan (2 Murshid Quli Khan
3} Saadat Khan (4) Shuja-ud-daulah
1722 B arew e o T faed w7

(1) srcirad! @t (2) e @ A

(3) wrEd @ (4) I IFaldi

(16)



al,

52.

53.

54.

18U/95/29(Set-1)

Who was the highest military officer during Sultanate period ?

(1) Khan (2} Amir
(3) Malik (4) Wali
HedlFd @7 71 Tiared -0 FER] bl o ?

(1) @ (2) 3N
(3) Hferm (4) aef

Mir Qasim transferred his Capital from Murshidabad to :

(1) Lakhnauti (2) Munger

(3) Midnapur (1) Burdwan

AT HIRTA A Ao el qeiierEe | Wi @6

(1) s 2) TR

(3) fememgR (4) daa

Who was the Fir«t Governor General of Bengal ?

{1y T ord Bentinek (2) Lord Cornwallis
(3) Lord Warren Hastings (4) Robert Clive
FITET T WA TR WHAIA I oA 7

(1) @i A< (2) &2 wiEmtem
(3) &8 989 2RE™ (4) a2 Fenga
What was the name of the journal started by Mahatma Gandhi ?
(1) Tribune (2) Sandhya

(3) Harijan (4} New India

Hereyr T g ue @ TS ufEer & A oo ?

(1) = (2) W
(3) == (4) =1 ghem

(17) P.T.O.
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35.

56.

a7,

58.

29.

Who gave the idea of Philosopher King'?

{1} Socrates (20 Aristotle
{(3) Plato (4} Machiavelli
TR il & e e R o ?

(1) gam (2) amw]

(3) wler (4) HfFareh
Who is the author of 'The Prince' ?

(1) Marsigleo of Padua (2) Machiavell:
(3) Hobbes (4) Hegel

5 i @ ogs B 8 7

(1) =rdifory aife Sgan (2) Fferamded
(3) & (4) &

Who of the tollowing gave the Monist Theory of Sovereignty' ?

(1) Laski (2) Krabbe (3) Austin (4) Duguu
Frerfarfa # & e AU & ued fagre fay) 2
(1) iz (2) ®a (3) afffees (4) TEE

What is the number of the electoral college for electing the President of USA ?

(1) 333 (2) 338 (3) 540 (4) 435
@t menfa B g9 T Pates Tea @ g e g 0
(1) 535 (2) 538 (3} 5 (4) 438

Which one of the following is nat a Republic ?

(1) France (2) China
(3) England (4) USA
retalag 4 9 e ve R g8 ¢ 7

(1) wra (2) ¥
(3) Frovs (4) v

(18)
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Which is the Highest Court of England ?

(1) Privy Council (2) House of Lords
(3} Supreme Court (4) High Court
(1) $Id wife (2) @fE @i

(3) g e (4) &g B

Which one of the following was not the method of Early Congressmen (1885-
19(07) ?

(1) Praver (2) Petition

(3} Protest (4) Deputation
fAeTaTEd 2 4 ©F wRWE Sl (1885-1907) &1 alid 781 o 7
(1) e ©(2) e

(3) 3rETe (4) =YL

Who of the following was not an extremist during national movement m
India ?

(1} Gopal Krishna Gokhale (2) Lala Lajpat Rai

{3) Bipin Chandra Pal (4} Bal Gangadhar Tilak
et v 9w aRdE U ar=ed i Suar g8 e ?

(1) 7T HET T (2) T Td

(3) faf= == Wi (4) 91l TR Ko

Which one of the following word does not find a mention in the Preamble of
the Indian Constitution ?

(1) Secular (Z) Socialist

(3) Federal (4} Democratic
Frafafag 4 @ @19 e dfaur & uedeq A Sieafaa T8 2 7
(1) merf=vds (2) wERAaTd]

(3) ATOTD (4) FomaifE®

(19) P.T.O.
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64.

65.

Who is regarded as the founder of the Indian National Congress (1885) ?
(1) W.C. Banerjee (2) Dinshaw Wacha
(3) A.O. Hume (4) Ferozshah Mehta
o AR R AT (1885) B B B U A WA AR 2 7
(1) s avs g (2) fa=rem g

(3) o 3o &M (4) Ferarame A
Who gave the principle of 'general will' ?

(1} Locke (2) Green

(3) Kant (4) Rousseau

[ gesT &1 Rrard far 7

(1) @® (2) @

(3) & (4) &

All adjustment entries in Final Accounts are written at two places :
(1) Trading Account and Balance Sheet

{2) Profit and Loss Account and Balance Sheet

(3) Trading Account, Profit and Loss Account and Balance Sheet
(4) Trading or Profit and Loss Account and Balance Sheet

A WATETaTRG @ 3 wd 99d W 8] wie e Wi €
(1) @R @ # aur e §

(2) @rreify @ § g fige ®

(3) N @I, dA-glE wwn qu faed o

(4) =R I FAW-EIF @ A qern faee H

(20)



67. After

59.

18U/95/29(5et-1)

re-j : . . is
®isue of forfeited shares e of forfeited share account is

ance
trans.f[:‘]‘red i bdhﬂ{i

(1) General Ragerve (2) Capital Reserve

(3) Profit and Loss Account (4) Capital Account

€ R ) el b gt @ eI o oo @R @ W9 g fan o
(1) = g o (2) it way o

(3) @m-gr @ 3 (4) Toit w@rd #

Which of the tollowing statements is true ?

(1} Accounvimg starts from where Book-keeping ends.

2) Accounting and Book-keeping are svnonymous.

(3) Book-keeping and Accounting are complementary to cach other.
(4) Both (1) and (2}

A i 9 B wYd W R 7

(1) el QIS HATC B # a9 9 Swied wRe g 2|

(2) ST AR qEETTer I #)
(3) e S G 1G-gim b g 8
(4) (1) g (2) gt

Which of the following is charter of the company ?

(1) Articles of Association (2) Memorandum of Association
(3) Prospectus {(4) Both (1) and (2)

fyfafaa § & S &7 = 2

(1) ardg araftas (2) umg Wi

(3) whaeem (4) (1) v (2) &%

(21) P.T.0.
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T,

71.

72,

73.

LA ' . : . 1.2 C is acdmitted
A and B are partners .-"imz'1[*_=r: prolit & foss i e ralio of 37 -

wWith 1/3 share in the profit, Wi g wilt be the new profil sharing ralio !

(1) 3:2:3 {2) Gid:3

(3) b:4:5 (4) 3:2:5

ST XS T 32 b s K A ghed SR IS R PR L
IS WRER @9 W #) m g @ ST @l Eny

(1) 3:2:3 (2) 6:4:3

{3) 6:4:5 () 3:2:8

A general business [ irm can not have -

{1} More than 20 partners (2) More than 1) partners
(3} More than 2 partners () More than 7 partners

Qb Wttt TG vl i g 1 a3

(1) 20 rsE/ ¥ a1 2) 10 Gt O g,
(30 2 wmEet O o (4) 7 9EEr & afds

Who adopted the scientific appraach towards Management for the first time 2
(1} Henry Favol (2} Flton Mava

(3 F W, Tavlor () Peter F. Drucker

AT BT Qe e Wdveny fhas e ?

(1) =T e (2) T e
(3) Uho gwgo To (4) 9ey (ho Faw

Which is et an element of planning ?

(1) Farecasts (2y Policies

13} Programmes (4 Performance
1 AT 71 oem T@ R 7

(1) gaigE= (2) i

(3) wTEH (4} Ty

(22)



74.

75.

76.

77.

18U/95/29(Set-1)

Which one of the following is a liability for a bank ?

{1} Deposits (2) Investments

(3) Loans i4) Bills Receivable
e A W Bl @ d & forg 3 @ 7

(1) s (2) faferar

(3] =Y (4) v

The user of which card becomes the borrower of the bank ?

(1) ATM Card (23 Debit Card (3) Credit Card (4} All of these
HF-Y BT B ITATTHET dF B F0T B FE 7 7

(1) v &g @re  (2) sfae &€ (3) @fge wid (1) 7w
Which one ot the tollowimg, is a function of Commercial Bank ?
(1) Credit Crealion

(2Y Regmuilator of currency

(3} Custodian of foreign exchange reserve

(4) Controller of credit

Fretifbd 3 @ dt-w aififas 9% &1 &/t 2 ?

(1) A 1 fFHio

2) & w1 e

(3) fa=eh fafrm @1g @ wrgaren

(4) g & o=

Intrinsic value of a share can be determined by :

(1) Net Asset Method (2) Yield Method

{3) Earning Capacity Method (4) Stock Exchange Price
UF A9 T ATaRe o wd R o e |

(1) I= |=Ry &8 gw (2) wifar fafer gmn

(3) sl awal fafey gra (4) b Rufd geg g

(23) P.T.C.



82.

83.

84.

85.

18U/95/29(Set-1)

India has been divided into how many Seismic Risk Zones ?

(1) Five (2} Six (3) Four (4) Seven
AN B fha yarda @i e o et e a2 2
(1} ™= (2) & (3) == 4) A7

According 1o Koppen's classification of climate, monsoon climate is denoted by
(1} Am (2) Af

(3 Aw {4) As

BN B Aoy FNB o I, 7R weary $hm @ w2

(3) Aw g (4) As gRI

Which one of the following is not chemical weathering ?

(1) Oxidation (2} Carbonation
(3) Desilication (4) Exfoliation
(Retforfaa A 1 -3 varafye amerg 78 & ?

(1) sifafrgm (2) T

(3) Riferar-guasya (4) F9Ied

Which Seismic waves can not pass through liquid materials ?

{1} Primary waves (2) Secondary waves
(3) Surface waves (4} All of the above
Fa @ ao, 5q el B e gd aed § 2

(1) et o9 (2) fedrre a9t

(3) wEd i (4) TTdF

(25) P.T.O.
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86. Which of the following pairs is not correctly matched !
(1) Yardang - Wind (2) Estuary - River
{3} Aréte - Glacier {4) Nunatak - Ground Water

frerfaifrs ot 9 W i wyifea T E T

(1) WRET - T (2) qq-z}aqf] el
(3) awa - e (4) TARE - BT

87. Terra-rossa’ is a kind of
(1) Gorge (2) Soil
(3) Grass 4y Fish
TOAHE Uh WER B
(1) 77w <6l (2} a1
(3) wme (4) Wl @1

88. Planetesimal hypothesis’ was propounded by
(1) Hovle and Lyttleton (2) Jeans and Jeffrey
{3) Chamberlin and Moulton (4) Laplace

o] g @ uidureH fbar e

{1} Bruel g fefeaet = (2} i1 T TR A
{3) awRferE vg weed | (4] drem

89. The law of equi-marginal utility states that in equilibriun
(1 Marginal utility of different commoditics to a person tends to be equal
(2) Average utility of different commaoditics 1o a person tends 1o be egual
(31 Total utility of different comodities to a person tends to be equal

(4) Marginal utility is equal lo Average uliltiv

(26}
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. . . ) i | .
78. Which of the following countries share the longest miwmlmmﬁ boundary w I

India?

(1) Pakistan (2) Bangladesh

(3} China {) Nepal

el 2 3§ frae wvd & W veRr o) iy o g 7
(1) uifiem (2) e

(3) =+ (4) =9ied

79. The earth has been divided into how many time zones ?
(1} 06 {2y 12 (3) 24 (1) 48
gt w1 fbas wHg &3 (€1gF W) 7 fawed fesam oy 2 7
1) 06 {2) 12 (3) 24 (4) 48

80. Wha is the author of the book The Geography of Puranas’?
{1y B. Dube (2} S.M. Al
(33 1. D Kosambi (1) Kazi 5 Ahmad

¢ [P Sl QUi QEE & oWE &e ¢ o°

[T i (2) THo THo 37
{33 Elo Slo BIEHI (1) ST THo T

81. Who among the following is known as ‘the Grand Old Man of Brinsh

Geography'?
(1) 1. 1. Stamp (2) Arthur Geddes

(3) A.]. Herbertson (4} L J. Mackinder

o 3 @ fafew yie & adgg e & a9 9 an am g °

(3) To To FEEET (1) Tdo Yo Afhvsy

(24



90.

91,

18U/95/22(8ct-1)
(14

( TR 332y o ool & B e

1) &fig 4. N ;
) S R Tl T M B ek @ Sqgifio) @R ed @ A
LCRIR-

) S = Pt awget O W B gl st SwRhfTr aRIR B A TR
g

(3) @idm &) fify= ﬂﬂ:ﬂ U &) dlefl gicd SUATET aviae &4 @ GyTel vege)
E;_‘-: =)

() ¥ ST feon i et agar G0

In the case of 5 wiffin good, a fall in its price tends to :

(1) make the demand remain constant

(2) reduce the demand

(3} increase the demand

{4) change the demand in an abnormal way

e awoll & wed |, 3w @ma 3 fgae & oo
LIy AT B wed) 2

(2) W W we A @

(3) #Hor A gfy @ wid 2

(4) HITH SEMRT ddE 9 ol 8 Wi @

In measuring price elasticity :

(1) Price s a dependent variable and quantity is an independent variable
{2) Price is an independent variable and quantlity is a dependent variable
(3) Price and quantity both are independent variables

(4) Price and quantity both are dependent variables

FIAT-TT B TAE H

(1) ®wa Tw anfia aw & wals = v vada WP

(2) BT U W@ T § was mE e il o g

(3) T T A S A WA W E

(4) TYHA TAT HAT G A NP AR 8

(27) PT.O
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82.  Average fixed cost:
(1) Remains the same whatever is the level of output
(2) Increases as output increases
{3) Decreases as output increases
(4) Poes not show any uniform pattern
g R AT
(1) Fmores @y forga B 8 99 E £
(2} TG do W gol B
(3} FUrEd g@en Ul ued) &

(4) FTe WY wfawy @ T aed &

g3. When AR is constant, MR is:

(1) Fqual to AR (2) More than AR
(3) Less than AR (4} Equal to Zero
W4 AR fler %l 2 @ MR &rf &

(1) AR & TR (2) AR ¥ a®®
(3) AR T &4 (4) 9w @ deEy

94. The speculative demand for money depends on
(1} income (2} interest rate
(3) output (4) profit
[Tl 9530 | @1 & A iR @ &
(1 3my o (2} =ilal ST R

(3) SFUTEs (4) M T

(28}



95.

96.

97.

18U/95/29(Set-1)

”Quantity theory of money should be regarded as a theory of demand for
money.” This is the view of :

(1) A.C.Pigou (2) D. H. Robertson

(3) J. M. Kevnes (4} Milton Friedman

"I & gREm Riged @1 gar @ uh @ Rigra & w A e i e fraw
3

(1) To e oy (2) o THo THCH

(3) o THo H=a @l (4) fiees wieim &

Which of the following is not a characteristic of indifference curves ?
(1) They are downward sloping to the right

(2) They are convex to the origin

(3) They are necessarily parallel

{(4) They do not intersect each other

=1 4 4 - dever 9@ & e T8 R 2

(1) 7 zfeh oir &1 & 2

(2) A ga fay & I=eay A1) &

(3) 9 awE HY [ GAHN B 3

(4) o TH-gER DI AL FICAl

The long-run equilibrium of a firm in a perfectly competitive market is as a
point at which :

(1) MR = MC (2) AR=AC

(3) MR=MC=AR=AC (4) MR=MC = AR = AC

TS ot wiartt IR F tE w a e whafy fisg ww g w e ) o
(1) MR=MC (2) AR =AC

(3) MR =MC = AR = AC (4) MR =MC # AR = AC

(29) P.T.O.
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98.

99.

100.

A phenomenon of ‘coexistence of inflafon and mwmulm:mvnl' in an economy

is
(1) slagflation (2} steady slate solution
(3} sticky prices (4) sticky wages

o e fored fred) apeferawer & gi AR e AW & eI Ui

2 S AT
uf Tl o, Theiddldl B

(1) frge TR (2) amfvafda argeem &
(3) arETeE drd (4) SRITEH Ao

Who is authorized to issue coins in India ?

(1) Reserve Bank of India (2) State Bank of India
(3) Ministry of Finance (4) Central Bank of India
%ﬂﬁﬁﬁmﬁmﬁﬁaﬂﬁiﬁ%ﬁﬂﬁﬁaﬁﬂﬁﬁ?

(1) s ad d@ () zde Hep i e

(3) foa mare (4) Irpa qF ofie ghem

Structural inflation which is very common 1 developing nations, is:
(1) A short-run phenomenon

(2} A long-run phenomenon

(3) Caused by excess supply of money

(4) None of the above

wegiaTs gE1 Wi @ Renrde S wae od oid g

(1) T& areds e el &

(2y v drdanfam fafd 2

(3) HET & o B aifdrear § 9ot Al E

(4} ST H W g A

(30)
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